D /	4 100 0010
Date	April 22, 2019

An Ordinance entitled, "AN ORDINANCE to amend the Municipal Code of the City of Des Moines, Iowa, 2000, adopted by Ordinance No. 13,827, passed June 5, 2000, as heretofore amended, by amending Section 114-657, and by repealing Sections 114-658, 114-659, 114-662, 114-663, 114-664, 114-665 and 114-665.05, and by adding and enacting new Section 114-658, relating to parking rates for city parking garages",

presented.

(Council Communication No. 19-176)

Moved by	that	this	ordinance	be
considered and given first vote for passage.				

FORM APPROVED:

(First of three required readings)

Lawrence R. McDowell Deputy City Attorney

COUNCIL ACTION	YEAS	NAYS	PASS	ABSENT
COWNIE				
BOESEN				
COLEMAN				
GATTO				
GRAY				-
MANDELBAUM				
WESTERGAARD				
TOTAL				
MOTION CARRIED			AP	PROVED

Mayor

CERTIFICATE

I, DIANE RAUH, City Clerk of said City hereby certify that at a meeting of the City Council of said City of Des Moines, held on the above date, among other proceedings the above was adopted.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed my seal the day and year first above written.

City Clerk
City Clerk

ORDINANCE NO.	
(1) (1) (1) (1) (1) (1) (1) (1) (1) (1)	

AN ORDINANCE to amend the Municipal Code of the City of Des Moines, Iowa, 2000, adopted by Ordinance No. 13,827, passed June 5, 2000, as heretofore amended, by amending Section 114-657, and by repealing Sections 114-658, 114-669, 114-662, 114-663, 114-664, 114-665 and 114-665.05, and by adding and enacting new Section 114-658, relating to parking rates for city parking garages.

Be It Ordained by the City Council of the City of Des Moines, Iowa:

Section 1. That the Municipal Code of the City of Des Moines, Iowa, 2000, adopted by Ordinance No. 13,827, passed June 5, 2000, as heretofore amended, is hereby amended by amending Section 114-657, and by repealing Sections 114-658, 114-659, 114-662, 114-663, 114-664, 114-665 and 114-665.05, and by adding and enacting new Section 114-658, relating to parking rates for city parking garages, as follows:

Sec. 114-657. Operations.

The city traffic engineer is hereby authorized and directed to operate the city parking garages with the rates charged for parking to be those established in sections 114-658 through 114-665 of this subchapter unless the city council directs otherwise as provided in section 114-666 of this subchapter. No charge shall be made for parking in the parking garages on Sunday with the following exception: certain special events designated by the city traffic engineer.

Sec. 114-658. Rates for Eighth and Mulberry Parking Garage.

Subject to section 114-666 of this subchapter, the following rates shall be charged at the Eighth and Mulberry Parking Garage:

	Effective	Effective	Effective	Effective	Effective
	01/01/09	07/01/15	07/01/16	01/01/17	01/01/18
First Hour	\$1.50	\$2.00	\$2.00	\$2.00	\$1.00
Second Hour	\$1.50	\$2.00	\$2.00	\$2.00	\$1.00
Each Additional Hour	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
12 Hour Maximum	\$7.50	\$7.50	\$7.50	\$7.50	\$7.00
24 Hour Maximum	\$11.00	\$11.00	\$11.00	\$11.00	\$10.00
Monthly Floater	\$100.00	\$100.00	\$110.00	\$115.00	\$120.00
Monthly Preferred	\$120.00	\$120.00	\$130.00	\$135.00	\$140.00
Monthly Reserved	\$140.00	\$140.00	\$150.00	\$155.00	\$160.00
Night (4:00 p.m. 6:00 a.m.)	\$3.75	\$4.25	\$4.25	\$4.25	\$4.25
Prepaid Special Event	\$5.00	\$5.00 to	\$5.00 to	\$5.00 to	\$5.00 to
		\$10.00	\$10.00	\$10.00	\$10.00

Sec. 114-658. Rates for City Parking Garages.

(a) Subject to section 114-666 of this subchapter, the following rates shall be charged at city parking garages.

		Seventh		Fourth			
	Eighth and	and	Fifth and	and	Ninth and	Third and	East
	Mulberry	Center	Keo	Grand	Locust	Court	Second
	Parking						
	Garage						
Hourly Rate (first hour)	\$1.00	\$1.00	\$1.00	\$1.00	<u>\$1.00</u>	\$1.00	\$1.00
Hourly Rate (each additional hour)	<u>\$1.00</u>	\$0.50	\$1.00	<u>\$1.00</u>	<u>\$1.00</u>	<u>\$1.00</u>	<u>\$1.00</u>
12 Hour Maximum	\$7.00	\$5.00	\$7.00	\$7.00	\$7.00	\$7.00	\$7.00
24 Hour Maximum	\$10.00	\$6.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00
Floater Rate (per month)	\$120.00	\$63.00	\$120.00	<u>\$120.00</u>	\$120.00	\$120.00	\$120.00
Preferred Rate (per month)	\$140.00	\$75.00	\$140.00	\$140.00	<u>\$140.00</u>	\$140.00	<u>\$140.00</u>
Reserved Rate (per month)	\$160.00	N/A	\$160.00	\$160.00	\$160.00	\$160.00	<u>N/A</u>
Resident Floater (per month)	N/A	N/A	\$63.00	\$63.00	N/A	<u>N/A</u>	<u>N/A</u>
Resident Preferred (per month)	N/A	N/A	\$73.00	\$73.00	<u>N/A</u>	N/A	N/A
Floater Rooftop Night ⁽¹⁾	N/A	N/A	<u>N/A</u>	<u>N/A</u>	<u>N/A</u>	<u>N/A</u>	\$60.00
Prepaid Special Event	\$5.00 - \$10.00						
Prepaid Saturday (after 4:00 p.m.	N/A	N/A	N/A	N/A	<u>N/A</u>	\$5.00	N/A
Parking Meters (per hour)	N/A	N/A	N/A	N/A	<u>\$1.25</u>	N/A	N/A

- (1) Floater Rooftop Night rate allows parking between 5:00 p.m. and 8:00 a.m., Monday through Friday. All day Saturday, Sunday and holidays.
- (b) For purposes of any outstanding parking license agreement for parking in a city parking garage, this section shall be deemed the successor code section to amended or repealed code sections 114-658, 114-669, 114-662, 114-663, 114-664, 114-665 and 114-665.05.

Sec. 114-659. Reserved. Rates for Seventh and Center Park and Ride Parking Garage.

Subject to section 114-666 of this subchapter, the following rates shall be charged at the Seventh and Center Park and Ride Parking Garage:

	Effective	Effective	Effective	Effective	Effective
	01/01/06	01/01/07	01/01/08	01/01/09	07/01/15
First Hour	\$0.75	\$1.00	\$1.00	\$1.00	\$1.00
Second Hour	\$0.75	\$1.00	\$1.00	\$1.00	\$1.00
Each Additional Hour	\$0.50	\$0.50	\$0.50	\$0.50	\$0.50
12 Hour Maximum	\$4.50	\$5.00	\$5.00	\$5.00	\$5.00
24 Hour Maximum	\$5.50	\$6.00	\$6.00	\$6.00	\$6.00
Monthly Floater	\$55.00	\$58.00	\$60.00	\$63.00	\$63.00
Monthly Preferred	\$66.00	\$70.00	\$72.00	\$75.00	\$75.00
Night (4 p.m. 6 a.m.)	\$2.50	\$2.50	\$3.00	\$3.00	\$3.50
Prepaid Special Event	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00 to
					\$10.00

Sec. 114-662. Reserved. Rates for Fifth and Keo Parking Garage.

Subject to section 114 666 of this subchapter, the following rates shall be charged at the Fifth and Keo Parking Garage:

	Effective	Effective	Effective	Effective	Effective
	01/01/09	07/01/15	07/01/16	01/01/17	01/01/18
First Hour	\$1.50	\$2.00	\$2.00	\$2.00	\$1.00
Second Hour	\$1.50	\$2.00	\$2.00	\$2.00	\$1.00
Each Additional Hour	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
12 Hour Maximum	\$7.50	\$7.50	\$7.50	\$7.50	\$7.00
24 Hour Maximum	\$11.00	\$11.00	\$11.00	\$11.00	\$10.00
Monthly Floater	\$100.00	\$100.00	\$110.00	\$115.00	\$120.00
Monthly Preferred	\$120.00	\$120.00	\$130.00	\$135.00	\$140.00
Monthly Reserved	\$140.00	\$140.00	\$150.00	\$155.00	\$160.00
Monthly-Ligutti	\$63.00	\$63.00	\$63.00	\$63.00	\$63.00
Monthly Res. Ligutti	\$73.00	\$73.00	\$73.00	\$73.00	\$73.00
Night (4 p.m 6 a.m.)	\$3.75	\$4.25	\$4.25	\$4.25	\$4.25
Prepaid Special Event	\$5.00	\$5.00 to	\$5.00 to	\$5.00 to	\$5.00 to
		\$10.00	\$10.00	\$10.00	\$10.00

Sec, 114-663. Reserved. Rates for Fourth and Grand Parking Garage.

Subject to section 114-666 of this subchapter, the following rates shall be charged at the Fourth and Grand Parking Garage:

	Effective	Effective	Effective	Effective	Effective	Effective
	01/01/09	10/01/11	07/01/15	07/01/16	01/01/17	01/01/18
First Hour	\$1.50	\$1.50	\$2.00	\$2.00	\$2.00	\$1.00
Second Hour	\$1.50	\$1.50	\$2.00	\$2.00	\$2.00	\$1.00
Each Additional Hour	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00

12 Hour Maximum	\$7.50	\$7.50	\$7.50	\$7.50	\$7.50	\$7.00
24 Hour Maximum	\$11.00	\$11.00	\$11.00	\$11.00	\$11.00	\$10.00
Monthly Floater	\$100.00	\$100.00	\$100.00	\$110.00	\$115.00	\$120.00
Monthly Preferred	\$120.00	\$120.00	\$120.00	\$130.00	\$135.00	\$140.00
Monthly Reserved	\$140.00	\$140.00	\$140.00	\$150.00	\$155.00	\$160.00
-Monthly-Elsie Mason	\$63.00	\$63.00	\$63.00	\$63.00	\$63.00	\$63.00
- Monthly ResElsie Mason	\$73.00	\$73.00	\$73.00	\$73.00	\$73.00	\$73.00
Night (4 p.m. 6 a.m.)	\$3.75	\$3.75	\$4.25	\$4.25	\$4.25	\$4.25
Prepaid Special Event	\$5.00	\$5.00	\$5.00 to	\$5.00 to	\$5.00 to	\$5.00 to
1			\$10.00	\$10.00	\$10.00	\$10.00
Prepaid Saturday		\$3.00	\$5.00	\$5.00	\$5.00	\$5.00
(after 4 p.m.)						

Sec. 114-664. Reserved. Rates for Ninth and Locust Parking Garage.

Subject to section 114-666 of this subchapter, the following rates shall be charged at the Ninth and Locust Parking Garage:

	Effective	Effective	Effective	Effective
	01/01/09	07/01/15	01/01/17	01/01/18
First Hour	\$1.50	\$2.00	\$2.00	\$1.00
Second Hour	\$1.50	\$2.00	\$2.00	\$1.00
Each Additional Hour	\$1.25	\$1.25	\$1.25	\$1.00
12 Hour Maximum	\$9.00	\$9.00	\$9.00	\$7.00
24 Hour Maximum	\$13.00	\$13.00	\$13.00	\$10.00
Monthly Floater	\$110.00	\$110.00	\$115.00	\$120.00
Monthly Preferred	\$130.00	\$130.00	\$135.00	\$140.00
Monthly Reserved	\$150.00	\$150.00	\$155.00	\$160.00
Night (4 p.m. 6 a.m.)	\$4.50	\$5.00	\$5.00	\$5.00
Prepaid Special Event	\$5.00	\$5.00 to	\$5.00 to	\$5.00 to
		\$10.00	\$10.00	\$10.00
Meters-1st Floor-2 Hour	\$1.25/hr	\$1.25/hr	\$1.25/hr	\$1.25/hr
Meters 1st Floor 4 Hour	\$1.25/hr	\$1.25/hr	\$1.25/hr	\$1.25/hr
Meters-1st Floor -10 Hour	\$1.00/hr	\$1.00/hr	\$1.00/hr	\$1.00/hr

At the discretion of the City Traffic Engineer. All parking meters installed at this location shall be in operation from 8:00 a.m. to 6:00 p.m., Monday through Friday, subject to the parking meter holidays listed in section 114-644.

Sec. 114-665. Reserved. Rates for Third and Court Parking Garage.

Subject to section 114-666 of this subchapter, the following rates shall be charged at the Third and Court Parking Garage.

	Effective	Effective	Effective	Effective	Effective	Effective
	01/01/09	10/01/11	07/01/15	07/01/16	01/01/17	01/01/18
First Hour	\$1.50	\$1.50	\$2.00	\$2.00	\$2.00	\$1.00
Second Hour	\$1.50	\$1.50	\$2.00	\$2.00	\$2.00	\$1.00
Each Additional Hour	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
12 Hour Maximum	\$7.50	\$7.50	\$7.50	\$7.50	\$7.50	\$7.00
24 Hour Maximum	\$11.00	\$11.00	\$11.00	\$11.00	\$11.00	\$10.00
Monthly Floater	\$100.00	\$100.00	\$100.00	\$110.00	\$115.00	\$120.00
Monthly Preferred	\$120.00	\$120.00	\$120.00	\$1 <mark>30.00</mark>	\$135.00	\$140.00
Monthly Reserved	\$140.00	\$140.00	\$140.00	\$150.00	\$155.00	\$160.00
Night (4:00 p.m. 6:00 a.m.)	\$3.75	\$3.75	\$4.25	\$4.25	\$4.25	\$.25
Prepaid Special Event	\$5.00	\$5.00	\$5.00 to	\$5.00 to	\$5.00 to	\$5.00
			\$10.00	\$10.00	\$10.00	
Prepaid Saturday		\$3.00	\$5.00	\$5.00	\$5.00	\$5.00
(after 4 p.m.)						

Sec. 114-665.05. Reserved. Rates for East Second Parking Garage.

Subject to section 114-666 of this subchapter, the following rates shall be charged at the East Second Parking Garage.

	Effective 10/01/17	Effective 01/01/18
First Hour	<u>\$1.00</u>	<u>\$1.00</u>
Second Hour	<u>\$1.00</u>	<u>\$1.00</u>
Each Additional Hour	<u>\$1.00</u>	<u>\$1.00</u>
12 Hour Maximum	\$7.00	<u>\$7.00</u>
24 Hour Maximum	\$10.00	<u>\$10.00</u>
Monthly Floater	<u>\$115.00</u>	<u>\$120.00</u>
Monthly Preferred	<u>\$135.00</u>	<u>\$140.00</u>
Prepaid Special Event	\$5.00 to \$10.00	\$5.00 to \$10.00

Section 2. This ordinance shall be in full force and effect from and after its passage and publication as provided by law.

FORM APPROVED:

Lawrence R. McDowell Deputy City Attorney